
Quiz 4 Math-0950-es36 2012 January 13

Evaluate (work out the value of) these expressions. Show at least one intermediate step for each part (per-
haps writing the problem out with repeated multiplication or division).

1 (−8)2

Directly,
(−8)2 = (−8) · (−8) = 64.

Alternatively, since 2 is even,
(−8)2 = 82 = 64.

2
�

3
4

�3

Directly, �
3
4

�3

=
3
4
· 3
4
· 3
4

=
27
64

.

Alternatively, �
3
4

�3

=
33

43
=

27
64

.

3 10−3

Directly,
10−3 = 1÷ 10÷ 10÷ 10 =

1
1000

.

Alternatively,

10−3 =
�

1
10

�3

=
1

1000
,

or
10−3 =

1
103

=
1

1000
.
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